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2.7
Solving System of Equations

Algebra using Substitution

& Elimination

Standards :
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# Solving Systems of Equations by graphing

Findthesolntion
.

1
. •

{ YyE¥xtf• Check Answer :H¥
li -1 ,y' -

. I

• •

-1 :2f1)t1 -1--24 ) -3

• •

- 1--2+1 -1=2-3
-1 -
1✓

- 1=-1 ✓

• solution :t1iH
•  •

2. { 9=3*-1
.

y=zI-5•
Check Answer

:t2
, -41*-4.4

•

-4=3*2) -1 -

4itzI -5
•

- 4=-3-1 -4=1-5
-4 : - 4✓ -4=-4 ✓

•

•

•

•
•

•

Solution :t2
,

- 4)
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conclusion when solving systems of equations by graphing
,

both

equatedinhpenterdptftm
{ Y=mx+by= mxtb

ne#fSolvingSystems of Equations Algebraically
( using substitution )

Let's consider { -2×+9=1y= 2×-3
.

We know that we can solve the system of equations (graphically ) by

converting 1st equations into slope - intercept form
.

Can we solve the system algebraically ?

(without graphing)

What property can we use to
help use to solve theMaYgebmraiEaEgyatims-pran@rttDtfa.b

,
b=c then

A = C
.

{5×1925} equation is solved try .

Can we use the transitive property ? yes !
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{
- 2x+y=z
y= -2×-3

⇒ -2×1-(-2×-3)=1 Sub Iforx :

-2×-2×-3=1
-4×-3=1 y=

-2×-3-4×-3+3=1+3 y=-21-1
) -3

÷h4y=I+ y= 2-3

Solution :(
1,15=1y=-1 .

condusi@Toso1vesystemsofeqnationbysubstitutimatleast1equationheedstobeso1vedforavariable.CExampleDc.xx

?FI
su# :

⇒ ( ytd - 2y=4
y -12-3=4 X=yt2

- y -12=4 ×= -2+2
- y#2= 4-2 ×=O

.

- y¥± I

y= -2
.

Solution :( 0,2 )
.
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[Exampled Solve
.

tfke
-76×-5×+7 swbtforx :

6×-5/1=5×+5×+7
-

×=7 y=6( 7)
y=42 .

Solution :( 7,42) .

[Example }] Solve .

{ 3×-4=0
x±
3ty ) -4y=0 Sub Ofory :

-3g - 4yr7y=O ×=-y
y=O . ×=- ( o )

X=O
.

Solution :( 0,0) .
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newtf Solving Systems of Equations Algebraically
(using elimination)

Let's consider {
- 2×+9=1
2×+9=-3

.

Weknowhowtosdvethis :

1) by graphing - converting both equations toslope - intercept
2) by substitution - solving foravariableinatleast 1- equation .

Canwesolvethissystemanyotherwageasier ?

Whatpropertycanweuseto Additivelyhelpuseto
" eliminate "a => Property

variable ?
Atta )=O .

{ Ixxttby:} - looking at both equations ,

doyousee additives ? yes !

METTE'ssubtforyity2×+41=-3
y=1 .

2×-1=3
2×-1+1=3+1

2x=4

⇐
- 2

.

Solution ( 2,11
.
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Condusi@Toso1vesystemofeqnationsbyetimination.bothequatrmsinstandardformandelimina.t
eonevariableby adding

the additive inverses
.

[ Example 'D Solve by elimination .

{2×-35-124×+39=24

2×-35-12 Subbinforx :

4×+3/5-24 ~

- 416 )t3y=246*-36 24+3=24
X=6

. 24*+39=24-24
3y=O

Solution :( 6,0) .

Y=0 .

[Exampled Sowe
.

f
4×+9=8
-3×+45--7

tt4xty=8|16×4=-32 SwbJfor=
-3×+45 - 3¥#I

- 4t3)ty=813*-39
kty=8

×= -3

12-12+9=8-12
Solution :C 3

,

- 4) y= -4
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Exampled Solve
.

{ -3×+5=-16-9×+5=16
' 3 '?yIMjI⇐ .IE#y.Itsub.tty¥-64 -3×+71.41=-16

y= -4

-3×-28=-16-3×-2*28=-16-128Solution :t4
,
-4 )

. -31¥
= -4


